TEMA: YPABHEHUSA, IPUBOAUMBIE K KBA/IPATHBIM

PemuTe KBaJApaTHble YPABHEHHS], IPUMMEHssl HE00X0JUMbI€e 3aMeHbI

I'pynnal:
a)a*—Ta*+12=0; x) 64z* + 5522 - 9 = 0;
6) b*— Tb®> -8 =0; 3) e*— 29¢2 + 100 = 0;
B) 4x* - 8x?+4=0; n) 2g* - 1327+ 18 =0;
r) 4y* — 5y* — 125=0; k) 3h*+97h®— 396 = 0;
n) ¢*—20c? + 64 =0; 1) 3m* +28m?2 +65=0;
e) 4d* - 12d*+ 5 =0; M) n*—100=0.
I'pynna 2:
a)(x—1)*—5(x—-1)*+4=0; r)(y+5)*+8(y+5)3>-9=0;
6) (a —2)*-13(a—2)*+36=0; m) (2t + 3)* + 3(2t + 3)* — 4 =0;
B)(m+3)*—4(m+3)°*-5=0; e)(2z-1)"-5(2z-1)*+4=0.
I'pynna 3:

a) (x2+6x)? —4(x2 +6x+1)—- 17 =0;
0) (x?+ x)2 - B(x2+ x—4)=-
5) (x2 + 4x)(x% + 4x - 17) + 60 = 0;
r) (x2 - 5x)(x% - 5x + 10) + 24 = 0.
1) (x2-3x)°%-2(x*-38x)=-8
(x> +x)2-11(x% + x)=

I'pynna 4:
a) a®— 8|a| +15=0; &) 22°— T|z| +83=0;
6) b®— |b| —12=0; 3) 108° - 9|t| - 1=0;
B) ¢*+ 10|¢| +20=0; u) 9m® - 12|m| - 5=0;
r) d*+ 8|d| -20=0; k) 5n°— 8|n| +3=0;
n) 2x” - 5|x| +2=0; m) k% — 23|k| -
e) 5y° + 5|y| +1=0; M) 3%+ 20|l - 7=0.
I'pynna 5:

2
a) (x +2x) (x+1
6) (x-6x) —2(x- )2—81
B) (x-4x) -7(x-2) +38=0

N (x+2)"+(x* +4x) =60
0 4 +8x) —(x2+4) +13=0



